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Table.1 Parameters of Inverted Pendulum

M kg] 0ooooo

m[kg] ooooo

G[N=V] 0o0ooooooon
F [kg=s] 0ooOo0oOooooo
Clkgm=s] 00000000
I[m] 0o0ooooooon
g[m=s?] oooon

J[kgm] 00o00oO0oOoooon

00000000000 @)oooooooooo

(M + m)<+ mlicos T+ Fx AmlPsinT= Gu

mlds T+ (J + mI?) T+ CTAmglsinT=0 (43)

X X1
] X2
X = = (44)
X X3
1 X4

(A4H0 0000 Xy =xXOX, = WXz =X0OX4 =
00000 0o0oooooo s ooooo

(M + m)x3 + mlx,cosx, + Fx3 A mlxﬁsinxz =Gu
mlxscosx, + (J + m|2)>_<4 + Cx4 Amglsinx, =0

(45)

0000@5) 00x:0x,0000000000

(M +m) mlcosx; X3
mlcosx, (I +ml?) | | xa
_ {Gu AFXxg+ me4zsinx2}

N . (46)
ACx4 + mglsinx;

d=M +m)J +ml?) A(mlcosx,)?0 0000

xs] _ [(@+ml?)=d Amlcosx,=d

{ } B [Amlcosx2=d (M +m)=d}
Gu A F x3 + mlIx,2sinxs
{ ACx4 + mglsinx; }

X4

ooo (47)

{144



xs = (3 + mI%)(Gu A F x3 + mlx,s?sinxz)=d

x[m]9 [rad]

+(Amlcosx,)(ACx4 + mglsinx,)=d  (48)

X4 = (Amlcosx,)(Gu A F x3 + mlx,2sinx,)=d 0 o 20 30

Time[sec]

+(M + m)(ACx4 + mglsinx,)=d (49)

000000 00000000000000 Fig:4 Response of x and 1

000 (Gl)OO0O0 (400000

ooogd x = 1.0 [m]
X1(t) X3(t) Fa(xa(t); ua(t)) + dai(t) DooO0 T = 50 [deg]
X2(t) | _ | Xa(®) | _ | Fa(xa(t); u2(t) + d2(t) oooo
X3(t) X3(t) Fa(x3(t); us(t)) + ds(t)
X4(t) X4(t) Fa(X4(t); us(t)) + da(t) g i
- o
(50) \\ /f
X1(t) = x3(t) (51) 3 \/ 1o 20 30
X2(t) = xa(t) (52) o
x3(t) = Fig:5 Response of x and T
(3 + ml?)(Gu A Fxs(t) + mlx4(t)zsinx2(t)):d
+(AmICcosx, (1)) (ACx4(t) + mglsinx, (t))=d(53) 0000 x = 1.0 [m]
Xa(t) = 0000 1§ = 250 [deg]
agooo
(Amlcosx,(t))(Gu A Fxs(t) + mixa(t)?sinx,(t))=d
+ (M + m)(ACx4(t) + mglsinx, (t))=d (54) g h
0000y G5 0o H[\j\,,\ YAN
10 20 Time[sec3]0
0
OF (x(t); u(t)) _ 0 (55) Fig:6 Response of x and T
au(t) ~ | G +mlI?)=d
G(Amlcosx,)=d
ooogd  x = 1.0 [m]
boboouobud ogoono T = 50 [deg]
0000000000000 0000000 D000 dst) = 10 0 (500)

ooon

154



i
? of i“’""./_’\\'}/}ﬁ VAN
T
-]
. \v/
_30 10 20 30
Time([sec]
Fig:7 Response of x and T
oooo X = 10 [m]
oood 1 = 250 [deg]
0000 dg(t) = 1.0 O(@©500)
£ ——
£ -0
= 0.5k
0 ll\:'{\n'-f\"/\'\/\«/yo- )
B AR
OI.I . 10 20 30
Time([sec]
Fig:8 Response of x and T
oood  x 1.0 [m]
oooo v = 50 [deg]
D000 do(t) = 50 0O(O500)
i
CDE 0.:\&#\“‘-/./\\-)/\‘“ WARN
|
) \/
_30 10 20 30
Time[sec]
Fig:9 Response of x and T
oooo  x = 10 [m]
oood 1 = 250 [deg]
0000 dao() = 30 0O(@0500)

164

x[m1® [rad]

x[m]® [rad]

1
o.s\ﬂ

f {\
\j\\‘ ‘\‘(\"\‘A"\ YA ~
e K N
VoL
YERT

1

0

=3

0 20 30

Time[sec]

Fig:10 Response of x and T

o000 x = 10 [m]
oooo r = 5.0 [deg]
0000 de(t) = 03 0O (1000)
1

l 0

0.5 {'ﬂl'

1; Mﬂ' N
L

0"‘ : 10 20 30 40 50

Time[sec]

Fig:11 Response of x and T

oooo X 1.0 [m]
oood 1 = 50 [deg]
0000 dg(t) = 03 0O (000)
0.05
0.04
—T1 :E
0.03
0.02
0.01 Mﬂ
L o
0 10 20 30 40 50

Time[sec]

Fig:12 Response of E

oooo  x = 1.0 [m]
oood 1 = 50 [deg]
D000 dg() = 03 O(000)



=}
[~

x[m19 [rad]
=1

=)

'
<o

'
=]
[

0 10 20 30 40 50
Time[sec]

Fig:13 Response of x and T

ooogd X 1.0 [m]
oooo 1 5:0 [deg]
OooO  da(t) 0:3 O (000)

gbbooobooboooboboooboobogog
0000000oooooOFriggloODooOoOoO
oooooooooobooobooboooooooo
coooo2p000000000000000O0
O0000ooo0o0O0oo Friggl200000000
ooooooooooooboboooooooooo
goooboobooooooooooooobooo
gogoooooooooooooobooobboo
oooooooOooooobooobooscooooboo
000000000000 Figil30O0o0oOOO
goobooooooooboooooooooo
ooooooboooobooooooooooooo
oobooooooooboboooboobooooboboOoboo
cooO0ooOooOooOooOoOoOoOoboOobOoOoOn
ooooooooooooobo

sUdubooouoboooonon
Oooo

oooobooooobooboooooobooa
oo, 0ooooooao

x[m1® [rad]

0.5

0 10 20 30
Time[sec]

Fig:14 Response of x and Twith NN
control(+200 O)

oooo x = 1.0 [m]
ooog 1 = 20:0 [deg]
gooo

x[m]® [rad]

10 20 30
Time[sec]

Fig:15 Response of x and Twith NN control(-37

0)
ooogo x = 1.0 [m]
ooogd v 20:0 [deg]
goono

x[m]9 [rad]
=
—

0 10 20 30
Time[sec]

Fig:16 Response of x and Twith NN control(-38
0)
oooo x = 1.0 [m]

0000 1§ = 20:0 [deg]
gooo

{74



obOoOoooOooooooobobooooobood
ooooooOooooooOoooooboObOOn
ggoooobobobooooooooboobobobooo
ooooobObOo0ooooooooooooooo
oooooooooooo

60 0[O

1) 00000000000 ooooooooo

2) 000O0OOOOoO0oOoOoooOooUOoo
obooobooooboobooboooo
ooo

3y 0U00oOOooUOoooOoUoooUoOooo
ubooooboooobobooobooboo
goooon

4) JJ000000C0cO0ooOoopooooooo
gooo

ogo

1) 00000000000 oooooooooo @):

0000000000000000000000
0000 (1989)

184



